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S'rA 441 82016 Quiz 1 

1. (3 Points) Make up an nrigina] example of an experim ental study with one categorical 
explanatory variable and one categorical response variable. Clearly indicate 

• What the cases are. 

• Which variable is explanatory. 

• Which variable is response. 

• Why the study is e~cpcrirnental rather than observational. 

You have a lot more room Utan you need for a good an:swer. 

v,s.; -I-or> -1-o q w~ bs, ·f? r cv,.,, cl ~ 1,y 4.JU( 

.e ,·+~ AJ v.12-1.f/.s J+'l..c-J A 

Vv h~~ b/l no f f-~ 
~ f'e Co/I~ 

67 Ac.Pv>'I +~.i ~~ B 
f v ,Ac_.4 Cf j .11 +-~ f /?o cJ v t- f 

~ /k c~ IV\t v,·~i iol'.t fo ~ w.e/;s, f~ 
o Th ~f(a..,, forj ,,~,,./e.b l..- ....; AJ A ~ 8 
o /J,_p f'f>.S fo11.s-t:> V'<..1 t~ ~ pi.1fl~~ s..o 'f...R. ~;Vo. 
~ T /ip S f..u cJ Y t$ % ~ l ut JJ b_p t_q u~ ~ 1J 

('a-,, c1~ q .S'S ' 7fY' H-1.sa-:;i -1-z, qJ V JJ...t. -h ~ '41 ~-

Page 1of2 



2. (2 Points) Label each statement below True or False. \Nrite "T" or "F" beside each 
statement. You must get at least 6 out of 8 correct in order to get credit for this 
question. 

--
·~ 

(a) T In an experimental study, a statistically significant relationship between 
the explanatory variable and the response vm iable can provide some evidence of 
cause and effect if the study is well controlled . 

(b) 

(c) 

f The p-value is the probability that the null hypothesis is true. 

We observer= -0.70, p = .009. We conclude that high values of X tend to go 
with low values of Y and low values of X tend to go with high values of Y. 

( d) __f_ If p < .05 we say the results are statistically significant at the .05 level, and 
we do not have sufficient evidence to conclude that the explanatory variable and 
the response variable are related in the population. 

(e) _L It is impossible for the explanatory variable and the response variable to 
be unrelated in the sample, but related in the popnlation. 

(f :: The greater the p-value, the stf;nger the e r1dence that-the explanatory and 
response variable are related. 

(g) _E_ An observational study is one in which cases Ftre randomly assigned to the 
different values of an explanatory variable. 

(h) £ When a relationship between the explanatory variable and the response 
variable is not statistically significant, we conclude there is no relationship be­
tween the two variables in the population. 

3. (5 points) For the Statclass data, what is the mean score on the midterm test? 

• Write the answer in the space below. It is a single number from your printout. 

• Circle the number on your printout. Write "Quest10n 3" beside it. 

• If you don't have SAS output, do not answer t his question. 

Please attach your log file and your output (results) file to the quiz paper. Make sure 
your name and student number are written on both printouts. 
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